=
N = 0 &
20088 = =& 3 3 LEHS A
S OlECe s M
B OEOS 2L 22
Cel: OIE0E SatMe 22l

Ab & & M A

SH-EH . C(BH) - NRAY - BES 0ff &+ o4 )= e bRz
OIS CHE 2 HME 502,786 530,626 A27,840
OS2 2stHE el 424,630 452,470 £27,840
OISCie 2sME el 424,630 452,470 A27,840
OISCIE 2HHE 29 398,630 426,470 £27,840
201 L2yl 359, 050 386,890 £27,840
01 ARl 275,360 287,600 A12,240
OSFHMETANR 256,360 268,600 A12,240
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AT 30,0002 «23AI 24+ 18Dt 2+ 122 149,040 155,520 6,480
2513 0|2
AT 30,0002 151 24+ 16D 2122 86,400 92, 160 A5,760
;2 ZT2Y 71,290 86,890 15,600
Sl:Bll=E A 2,700,0008+122 32,400 48,000 15,600




